
Soustraire des fractions mixtes négatives (J)

Nom: Date: Note:

Calculez chaque différence.

1. (−523) −
1
2 =

2. (−345) − 323 =

3. (−312) − (−535) =

4. (−523) − (−312) =

5. (−414) − (−135) =

6. (−312) − (−225) =

7. (−413) − (−412) =

8. (−212) − (−423) =

9. (−114) −
1
3 =

10. (−316) −
4
5 =
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Soustraire des fractions mixtes négatives (J) Réponses

Nom: Date: Note:

Calculez chaque différence.

1. (−523) −
1
2 = (−173 ) −

1
2 = (−346 ) −

3
6 = (−376 ) = (−616)

2. (−345) − 323 = (−195 ) −
11
3 = (−5715) −

55
15 = (−11215 ) = (−7 715)

3. (−312) − (−535) = (−72) − (−285 ) = (−3510) − (−5610) = 21
10 = 2 110

4. (−523) − (−312) = (−173 ) − (−72) = (−346 ) − (−216 ) = (−136 ) = (−216)

5. (−414) − (−135) = (−174 ) − (−85) = (−8520) − (−3220) = (−5320) = (−21320)

6. (−312) − (−225) = (−72) − (−125 ) = (−3510) − (−2410) = (−1110) = (−1 110)

7. (−413) − (−412) = (−133 ) − (−92) = (−266 ) − (−276 ) = 1
6

8. (−212) − (−423) = (−52) − (−143 ) = (−156 ) − (−286 ) = 13
6 = 216

9. (−114) −
1
3 = (−54) −

1
3 = (−1512) −

4
12 = (−1912) = (−1 712)

10. (−316) −
4
5 = (−196 ) −

4
5 = (−9530) −

24
30 = (−11930 ) = (−32930)
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